
K∗(F3[x]/x
4;F3)

K1 K3 K5 K7

b11 b21 b12 b22 b52 b72 b13 b23 b53 b73 b103 b113 b14 b24 b54 b74 b104 b114 b134 b144

K2
a11 b42 + b102 b112 b83 b44 b84 b45 b85 b165 + b225 b235
a21 b12 + b72 + b192 b42 + b82 + b202 b43 + b83 + b83 b73 + b113 + b233 b114 b44 + b84 b74 + b114 b44 b115 b45 + b85 b75 + b115 b45 b55 + b195 + b315 b165 + b205 + b325

K4

a12 b43 + b103 + b283 b113 + b293 b44 b114 b84 + b324 b344 b45 + b45 b85 b46 b86 b166 + b226 b236
a22 b73 + b193 b83 + b203 b44 + b84 b114 + b234 b45 b115 b46 b116 b196 + b316 b206 + b326
a52 b23 + b83 + b163 b73 + b173 b84 b74 + b114 b104 + b204 b44 + b224 b85 b115 b105 b45 b116 b106 + b206 b46 b26 + b286 b196 + b296
a72 b83 + b223 b233 b44 b45 b46 b206 + b346 b356

K6

a13 b44 + b104 + b284 b114 + b294 b45 b115 b325 b345 b46 b87 b227 b237
a23 b74 + b194 b84 + b204 b45 + b85 b115 + b235 b46 b116 b47 b117 b197 + b317 b207 + b327
a53 b24 + b84 + b164 + b464 b74 + b174 + b474 b85 b75 + b115 b105 + b205 b45 + b225 b86 b116 b106 + b206 b46 b87 b117 b107 + b207 + b207 b47 b27 + b287 + b587 b197 + b297 + b597
a73 b84 + b224 b234 b45 b46 b47 b207 + b347 b357
a103 b114 + b314 b44 + b324 b45 b355 b237 b87
a113 b44 + b344 b354 b87

K8

a14 b45 + b105 + b285 b115 + b295 b46 b116 b326 b346 b47 b88 b228 b238
a24 b75 + b195 + b555 b85 + b205 + b565 b46 + b86 + b206 b116 + b236 + b596 b47 + b87 b117 + b237 b48 + b88 b118 + b238 b198 + b318 + b678 b208 + b328 + b688
a54 b165 + b465 b475 b206 b87 b207 b88 b208 b288 + b588 b598
a74 b85 + b225 b235 b46 b47 b48 b208 + b348 b358
a104 b115 + b315 b45 + b325 b46 b356 b238 b88
a114 b45 + b345 b355 b88
a134 b145 + b165 + b405 b55 + b415 b166 b56 + b196 b26 + b446 b206 + b466 b167 + b227 b197 b27 b207 b237 b87 b228 b198 b28 + b288 b208 b238 b88 b268 + b528 b18 + b538
a144 b55 + b435 b165 + b445 b166 + b206 b196 + b476 b237 b207 b197 b87 b238 b208 b198 b88 b18 + b558 b288 + b568


